The original adjacency matrix.
g 2 1 9 9 9
1 9 9 % 1 9
f’n 2 1 0 3 93 7
\Z /} 2 1 2 0 9 92
¥ 992 %0 |
2 2 2 1k 9 1
The D matrix after running F¥VI. The path matrix
0 2 I 5 3 4 =l 1 B3 1 4
S R R S | -1 0 a2 | 4
2 1 0 4 2 3 | 2 <1 5 1 4%
2 1 3 0 2 3 | 3 0 -1 1 4
¥ 3 =2 20 | | 3 0 5 -1 4
dJ 241 3 0 | 3 0 5 | -l

// Initialize d and path
for inti=0; 1 <n: i+ )
for( int j =@; §J < n; j++ )
dfLiJLj]=al1]C31];
if Ca[i] [3] = @ & a[il[j] < INFINITY)
path [i] [j] = i;
else
path [i][j] = NOT_A_VERTEX;




for{ int k = @; k < n; k++ ){
for{ int 1 = @; 1 < n; i++ )
for{ int j =05 j < n; j= )
if( df 1 JE k] +dfE kK I[L 51 =dL 1 JL 334
// Update shortest path
dCiJLi]=d[1]ILk]+dl kK1I[ J 1;
?uth[i][:i] = path[k][]]

The original adjacency matrix.
g 2 1 7 9 9
I 9 9% 1 9
(v 2 1 0 9 9 9
J\Z /;- 2 1 2 0 9 9
s 22 20 |
9 9 9 1k 9 1
The D matrix after running F¥I. The path matrix
0 2 1 5 3 4 -1 2 0 5 1| 4
S R R G | -1 0 5 | 4
Ll 0 % 2 -3 | &4 1 o 1 4
Z 1 3 0 2 3 | 3 0 -1 1 4
4 3 =3 20 | | 3 0 5 -1 4
i 241 3 0 | 3 0 5 | -l

The path from 0 to 3 is of length 5.
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5
1 B SO
| 0 4 1
| 3 0 12
. 3 == &1

o 2
I
2
2

4

3

i 1 4

Path (0,3) is 5.
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Path (0,5) is 4.
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The D matrix after running FVVI.
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Path (0,4) is 1.
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Path (0,1) is 2.
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The original adjacency matrix.
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The D matrix after running FVVI.
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Path (0,2) is 0.




